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The (make-believe) country of Slowmonia is always super slow.  But they are hard working, 

and after 20 years of research, the country of Slowmonia launched a rocket into space to 

land on Pluto.  It is slow!  It travels 2.632 kilometers in a month.  How far will it travel in 45 

years?

16 ÷ 4 + 3
3 8

9
 + 9 7

9

How many meters are 
there in 197 kilometers?

The diameter of a circle is 
1,172 cm.  What is the radius 
of this circle?

Round 18,307 to the nearest 
thousand.

Round the decimal 0.355 to 
the nearest hundredth.

10 x 12 =  

Jessica rolls a die.  What is 
the chance of her rolling a 4?

1 lb = 16 oz

24 lb = oz
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Express 3
9

 as a repeating decimal.

5 - 2 - 15 = 24 + -31 = -4 + -7 =

10  ÷ 1
7

Yummy Donuts gave three 
dozen chocolate donuts 
and four dozen jelly donuts 
to the school.  How many 
donuts did they give?

C,  F,  D,  I,  E,  ,   F, 

 O,  G,  R

Write 3,851 in words.

35 ÷ 7 =  
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x + =

+

+

=

90

99

63

24 28 27

B ? B

B A B

C B B

Each letter is a whole number.

Fill in the equations using the chart:

B + B + B = 27 B x A + = 99 + + = 24

x + = 63
Additional hints:

B = C + 3 B < 19

Equations and Hints:

? =

Solve:

Show Work:
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Jacob bought a Cattitude Tea for Two set 
for his mother's birthday. The set cost $32, 
the shipping was $4.12, and the tax (for the 
goods and shipping) was 5.25%. How much 
did the tea set cost in all?

Erin and Peter work in the purchasing 
department for SuperChem. The production 
manager e-mailed the purchasing 
department requesting a fresh supply of 
benzene. Peter immediately ordered 
twenty-one 500 ml bottles. After lunch, Erin 
also saw the message and ordered twelve 1.2 
liter bottles. Unknown to either one of them, 
another buyer had predicted that they 
would need more benzene and ordered 
three 2 gallon containers. What was the 
average amount of benzene that the three 
buyers ordered? _____ liters.

Show the steps to solve 9(34 + 8 - 16) x 13 ÷ 3 x 11

Parentheses

Exponents

Multiplication & Division (or Division & Multiplication!)

Addition & Subtraction (or Subtraction & Division!)

9 x 9 = Zy

What is the value of Z 

and y?

t - 7 + t = 37
What is the value of t?

|-10| - d = 15

d =
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Get a fidget spinner!  Spin it. I needed to spin time(s) to finish.

Know how many inches in 
a foot?  Okay, smarty pants,
how many inches in 7 feet?

What is 50% of 1,630? A toy car can go 4 mph.  
How long would it take to 
go 6 miles?

11 1
9

,  11 5
9

,  12,  12 4
9

,  

12 8
9

,  13 1
3

,  13 7
9

,  

14 2
9

,  14 2
3

,  15 1
9

,  

15 5
9

,  16,  ,   16 8
9

How much time is it from 
9:00 a.m. to 10:20 a.m.? The area of a rectangle 

is 24 cm2 .  What could 

the length of the 4 sides 

be?

A rectangle is 25 cm on 
one side and 5 cm on 
another side.  What is the 
perimeter?

4 + 10 - 3 How much money is 1 
quarter, 1 dime, 1 nickel, and 
3 pennies?

What is the area of a 
rectangle with sides 4 cm 
and 11 cm?

63,  ,   83,  93,  103, 

 113,  123,  133

48 divided by 6 equals
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Amanda left her house 
at 10:28 a.m. She arrived 
at the newspaper office 
40 minutes later. She 
spent 25 minutes 
working on her story 
and then took a 
10-minute break. At 
what time did she finish 
her break?

Kevin played for his high 
school team last year. 
He hit a home run 
one-eighth of the times 
he was at bat. He was 
at bat 48 times. How 
many home runs did he 
hit?

Peter bought 6 AA 
batteries. Each battery 
cost $1.24. Use the 
expression n x 1.24 to 
find the cost of the 
batteries.

Sara likes to change numbers 
into a secret letter form.  
Sara changed the number 
666,717 to GGGGGG.  Sara 
changed the number 62 to 
GG.  Sara changed the 
number 887 to GGG.  Sara 
changed the number 21,558 
to GGGGG.  How do you 
think she would change the 
number 1,244?

3 3 0
+ 3 6 9

12 x 3 = 

6,597 + 7,579 =  26 km = m 3 0
+ 2 4

8 x 6 =  891 - 337 =  8 8
- 1 2

5 2 8
- 2 1 8
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99 ÷ 9 = 2,291 + 1,224 =  3 x 4 = 

36% of 100 is 36.
36% of 200 is 72.
36% of 500 is 180.

What is 36% of 600?

Four-fifths of the children in 
Clark's class want to go outside.   
If Clark agrees with the majority, 
will the class stay inside or go 
outside?

5 x 8 = 

322 + 246 =  

How many dimes make $3.80?

In the number 1,092,923, the digit 1 is in 
what place? 6 ÷ 2 =  

5 x 2 =  48 ÷ 4 =  

How many yards are in 6 feet?

 yards

72 ÷ 9 = 7 x 10 =  

What time is 17 hours after 
1:00 p.m.?

77 ÷ 11 =  

751 - 282 =  

9 x 11 =  
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Circle the digit in the tenths place.

365.8411

Write the missing family fact.

88 - 25 = 63
88 - 63 = 25
25 + 63 = 88

Three girls ran a race.
Anna ran past Jenna in the 
race and Jenna never 
caught up.
Maria was not as fast as Anna.
Who won the race?  Do you 
have enough information to 
know?

8 x 6 =  (5 + 6) + 6 = 

Write the numbers 35 to 50 
on a sheet of paper.
How many of these numbers 
are divisible by 2?

The letters F, G, J, L, N, P, Q, R, S, 
and Z do not have line symmetry.  
The rest of the letters in the 
alphabet do.  Can you write 
someone's name where the 
complete name has line 
symmetry?  Hint: You cannot use 
all of the letters.  You could use B 
in a name, but M would not work.

70 ÷ 7 =  

For 122,952,778,853, write the 
digit that is in the ten 
thousands place. 841 - 184 =  

word root cor can mean with or together corrupt, corruption

9 x 11 =  

12 x 6 =  

11 x 6 =  
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5 x 2 = 0 7 x 5 = 3 5 4 ÷ 6 6 5 1
7 8 9

Use the pieces above to help you fill in the runaway math puzzle.

45 ÷ 9 =  

Circle the greatest number:
203,486,195 15,879,632
40,845,630,297 4,197

Circle the addition property 
for 65 + 171 = 171 + 65.

associative property
commutative property

63 ÷ 9 =  8 ÷ 4 =  

1
0 x

4 2 9 4 = 3 6
7 ÷ 9 = 8 1
x 9 ÷ 3
8 =
= 6 = 0 0
5

1 3 5
x x 9 = 4

÷ 6 8
= 9 ÷

2 1 ÷ 3 =
4 x 5 = 4 5

6
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Rewrite these numbers in order from least to greatest.

-4 -5.8302 -5 -4.3 -4.089

The area of a square is 21.16 square inches.  What is its perimeter?

In each group, use 4 of the numbers to make a proportion.
77 70 90 99 41 45

30 23 105 2 7 13
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x

33 14

72
+

41
x

22 17

306
x

17

86
+

22

x

11
+

26
+

5 22 4

432
x

27
+

16
+

5 3 13

352
x

+

11
+

13 6 5

272
x

+ x

+

4
+

2
+

8
+

6 7 2 1 1 3

98
+

49
x x

+

7
+ +

7
+

3 3 4 5 4 3

Write as a decimal.

 2
100

Write as a decimal.
Six and eighty-seven 
hundredths

Write as a decimal.

 10 54
100

word root se can mean aside or apart secede, seclude, seclusion
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80 ÷ 8 = 63 ÷ 9 = 16 ÷ 8 =

66 ÷ 6 = 42 ÷ 7 = 35 ÷ 7 =

12 ÷ 4 = 36 ÷ 9 = 55 ÷ 11 =

42 ÷ 6 = 64 ÷ 8 = 99 ÷ 11 =

79
18-

85
15-

37
34-

09
13-

74
92-

89
29-

49
87-

46
81-

15
74-

58
24-

77
96-

08
21-

84 - = 59 - 21 = 50 99 - = 72

- 77 = 22 - 20 = 22 - 40 = 12

80 - = 63 78 - = 48 99 - = 39

- 36 = 5 90 - = 67 - 28 = 54

+

124

60 64

+

79

27

+

123

80

+

161

92
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47
+

30

+

27 33

+

39 12

87
+

18

+

53 19

0.2 x 0.3 What is the greatest 
common factor of the 
numbers 96 and 48?

Simplify.

54
216

 = 

What is the mode of the 
following number set?

80, 80, 88, 88, 79, 77, 88, 77, 
85, 86, 78, 80, 76, 72, 70, 84

At the dive meet Jason 
received scores of 6.5, 8.1, 
9.9, 9.8, and 9.8.  The 
largest and smallest scores 
were dropped and the rest 
were averaged for a final 
score.  What is the final 
score Jason received?

Rewrite as an algebraic 
expression or equation.

Nine subtracted from a 
number is forty-one.

If a = 5 and b = 69.2,
then
2a + b - a =

If a = -8 and w = 35 then 
what is 12a - 11w - 2w = ?

17 - t + 8 = 11
What is the value of t?
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5 1 2 3 5 4 8 3 1 5 6 0 8 8 1 3 3
0 7 7 0

Use the pieces above to help you fill in the runaway math puzzle.

Subtract 168 from 570. Find the difference 
between 410 and 87. 4 0 5 0 2,

- 2 9 4 8,

If a = 8 and w = -49 then 
what is 11a - 9w - 3w = ?

p - $69 = $38
What is the value of p?

17 - 13 + t = 15
What is the value of t?

- = +
+

+ =
+ =

=
+ = -
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Jenna went to the mall.  Weird!  A pair of blue sneakers costs $19.00 more than a pair of 

green sneakers.  She bought both.  Together, she paid $233.00.  When she got home, she 

decided to give the blue sneakers to her mom.  Luckily, her mom paid her back the cost of 

the blue sneakers.  How much did she get from her mom?

The number 9499 is the largest whole number that, when rounded to the nearest 

, will be 9000.

1 1
4 1 2

3 2 1
2 1 2

8 1 7
8 2 3

4 1 1
7 1 1

5

Name two of the above numbers that have a sum of 3 1
8

.
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Find 2 equations hidden in each box.  Good luck!

5 - 3
2

9 - 9

0

9 - 8

7

7 - 1
9

Write 2 equations:

4 x 6

24

3 x 6

181

12 84 x 8

8 x 7

63
9 x 1

7 x 3
16

5
4 x 5

4
49

5 x 272

9 x 9

Write 2 equations:

378 + 3
381

543 + 4

547

687296

623 + 8
482 286

149 + 5

421 + 8

789

301 + 9387

436

Write 2 equations:
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Fill in each box of the edHelperKu puzzle, using the numbers from 1 to 5.
Every row must contain the numbers 1, 2, 3, 4, and 5.
Every column must contain the numbers 1, 2, 3, 4, and 5.
In a cage with a plus sign, the given number will be the sum of all the digits in the cage.
In a cage with a subtraction sign, the given number will be the difference. The largest number 
will always be the box with the clue.

3

5

2

4-

3-3- 9+

2- 1-

3-

1-

9+

2

4

7+

1

Fill in the blanks.  These equations are from the puzzle above.

- 1 = 2 + 4 = 7

5 - = 1 - 2 = 3

+ 3 + = 9 + + 5 = 9

3 - = 1 - 2 = 3
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